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Abbreviations 

 

cao  correct answer only 

cso  correct solution only 

dep  dependent 

ft  follow through 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

soi  seen or implied 

www  without wrong working 

 

1 (a) (i) 8.4(0) B2 B1 for 1.2 or 3.6 seen  

or SC1 for figs 84 in answer 

  (ii) 

100

20

×

(i)their

   oe 

42   ft   www2 

M1  
A1ft 

  
ft their 8.4 × 5 

After 0 scored SC1 ft for 58% or 

100

20

20

×

− (i)their

 correctly given 

 (b) 6 B2 M1 for 9 or 8 ÷ (1 + 8 + 3) soi 

 (c) 

3

2

4.2

×    oe (= 3.6 seen) 

or their (a) (i) ÷ 7 × 3 

 

9

12

3

×    oe (= 2.25 seen) 

1.6(0)   cao   www3 

 
M1 

 

 

 

M1 

 

A1 

 

 (d) 

25.1

40.2

   oe 

1.92   www2 

 
M1 

 
A1 

 

Implied by figs 192 

 
[11] 

 

2 (a) (i) Reflection (M), x = 1 B1,B1 If extra transformations given in part (a) then 

zero scored 

  (ii) Rotation (R) 

 180 

(centre)  (1, 0)  

B1 

B1 

B1 

Must be “rotation”. 

Allow half turn for 180.  

Allow other clear forms of (1, 0) 

  (iii) Enlargement (E) 

(centre)  (6, 4) 

(scale factor)  3 

B1 

B1 

B1 

Must be “enlargement” 

Allow other clear forms of (6, 4) e.g. vector 

Accept 3 : 1 or 1 : 3 

  (iv) Shear (H) 

y-axis invariant   oe 

 

 

(factor) –1 

B1 

B1 

 

 

B1 

Must be “shear” 

Allow other explanation for invariant but not 

“parallel to” 

isw after y-axis invariant seen 

Page 2 Mark Scheme: Teachers’ version Syllabus Paper 

 IGCSE – May/June 2010 0580 43 

 

© UCLES 2010 

Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 

 

 

Qu. Answers Mark Part Marks 

1 (a) (i) 2 : 3 1  

  (ii) 30 ÷ 2 × 3   o.e. E1 Allow 2 : 3 (oe) = 30 : 45 

  (iii) 60 2 M1 for 3 ÷ 5 × 100 oe 

 

 (b) 31.83 3 SC2 for 31.827 as final answer or not spoiled. 

or M1 for × 1.03 twice oe   

 

 (c) 1.5 2 M1 for 25.2

100

530

=

×× r

 oe     

or for 2.25 ÷ 5 then ÷ 30 × 100   

2 (a) 5.83 (5.830 to 5.831) 2 M1 for 3
2

 + 5
2

     

Any other method must be complete 

 

 (b) 113. 6 (114 or 113.5 to 113.6)  www 4 4 M2 for (cosC) = 

852

1185

222

××

−+

 

or M1 for correct implicit expression 

A2 (A1 for –0.4 or –

5

2

) 

 

 (c) 25.8 (25.77 to 25.85)  cao   www 3 3  M1 for 0.5 × 5 × 8 × sin (their angle C)  o.e 

must be full method e.g. Hero’s formula. 

M1 for 0.5 × 3 × 5  oe    
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14 10.8 or 10

83

70
 

3 M1 figs 10 ÷ time 

M1 10 ÷ 0.92r, 0.922 or 83/90   

15 y = –2x + 8  cao oe 3 M1 (m =) 

30

28

−

−

 oe   B1 c = 8 or y = mx + 8 

or subst. correct point in y = “m” x + c 

16 

2

4

g

h

 or 

2

2

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

g

h  
3 M1 squaring correctly 

M1 clearing denominator correctly 

M1 dividing by coefficient  of i 

or SC2 for correct unsimplified expression     

17 x = –1,  y = 5 3 M1 consistent multiplication and either add or 

subtract 

A1 for one correct after M1 

18 315 3 M1 

360

x

 × 2 × π × 8 oe 

M1 

360

x

 × 2 × π × 8 (+ 16) = (16 +) 14π  

19 2.88 3 M1 40
3

 oe seen  A1 2 880 000   

B1ft their 2 880 000 ÷ 100
3

   

or B1 0.000045  M1 40
3

  A1 cao 

or M1 0.4
3

  M1 45 × 0.4
3

  A1 

20 (a)  63.4 2 M1 tan(M) = 

2

4

 oe  

 (b) Vertices at (4, 1), (8, 1) and (10, 3) 2 B1 two vertices correct 

21 (a) 2.4 oe 

 

(b) 680 

1 

 

3 

 

 

M1 an area found   

M1 40 × 20 – 

2

1

 × 20 × 12 oe    

22 y [ 1,  x Y 3, y Y x + 5       oe 5 

 

 

 

 

B1 y R 1 

B1 x R 3 

B2 y R x + 5 or B1 y R – x + 5 

where R is any inequality  

B1 all 3 inequalities correct  

23 (a) (Angles in) same segment 

 

(b) (i) 100 

 (ii) 43 

1 

 

1 

1 

Allow (angles on) the same arc 

 

 

 

 

 (iii) 3 2 B1 OBC or OCB = 

2

1

(180 – 86) (= 47) 
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

Qu. Answers Mark Part Mark 

1 847 1 

 

 

2 correct regions shaded 1, 1 

 

 

3 48 2 

 

B1 for 3 and 16 seen 

4 (a) 10 

 

(b) 5.5 oe 

1 

 

1 

 

5 (a) 86400 

 

(b) 8.64 × 10
4

 

1 

 

1ft 

 

6 108 2 
M1 for 3

3

 or 27 or 

3

3

1

⎟

⎠

⎞
⎜

⎝

⎛
 or 

27

1

 seen 

7 13 3 B1 for 12, 5 seen M1 for (their 12)
2

 + (their 5)
2 

or M2 √[(–8 – 4)
2

 + (1 – 6)
2

] oe  

or M1 if √ missing 

8 6.70 3 M1 for ( r
3

 = ) 1260 × 

π4

3

 oe seen 

M1 for 3  of their r
3

 seen or implied 

9 22.5 oe 3 B2 180 = 5x +2x + x oe or better 

B1 for 2x or 6x marked in the correct place on the 

diagram. 

10 x = 13 

y = –9 

3 M1 for consistent multiplication and 

addition/subtraction 

A1 for x = 13 or A1 for y = -9 

11 (a) 85.8 

 

(b) 456.8625 cao 

2 

 

1 

M1 for 23.25 and 19.65 seen 

12 (a) (0)8(.)01 (am) 

 

(b) 78.4 or 78.38 to 78.39 

1 

 

3 

Not 8.01pm 

 

M2 for 827 ÷ 10.55 

or M1 for figs 827 ÷ their time 

13 (a) 0.54 

 

 

(b) 1.61 

2 

 

 

2 

M1 for 

000010

000207.2 ×

 oe  

or SC1 for figs 54 in answer 

 

SC1 for figs 161 or M1 200
2

 or 20 000
2

 seen 
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12 

d

x−840

 or 

d

x

d

−

840

 

3 M1 400 × 2.1 

M1 “400 × 2.1” – x 

13 

 

 

 

 

 

 

 

 

 

            R 

 

 

 

3 Give the mark for R shown in region below 

 

                          2   

 

                  3                  1     

                          2   

  

     2                  1                 0 

 

14  y = 4x + 1 3 B1 correct numerical y = mx + c 

B1 c = 1  

B1 m = 4 

15 4.94 3 M1 π r
2

 × 12 = 920 

M1 (r
2

) = 

)12π(their 

920

×

 

16 

)2)(2(

25

+−

−

xx

x

 

3 M1 2(x + 2) + 3(x – 2) seen 

B1 (x – 2)(x + 2) common denom. seen 

17 (a) 

 

 (b) 

4.5(0) 

 

200 

1 

 

2 

 

 

M1 0.5
3

 or 2
3

 seen  

18 (a) 

 

 (b) 

27x
9 

 

25x
4

 

2 

 

2 

B1 kx
9

 or 27x
n 

 

B1 kx
4

 or 25x
n 

19 (a) 

 

 (b) 

32 

 

37.5 

2 

 

2 

B1 figs 32 or 1 cm to 2.5 km or 8 000 000 seen 

 

B1 (figs 25)
2

 seen or figs 375 in answer 

20 (a) 

 

 (b) 

 

 (c) 

 

 (d) 

35 

 

55 

 

55 

 

125 

1 

 

1ft 

 

1ft 

 

1ft 

 

 

90 – (a)   but b > 0  

 

= (b) 

 

180 – (c) 

21 96 www 5 M1 3
2

 + 4
2

 

A1 5 

M1 ½ × 6 × “5” (= 15) 

M1 4 × their triangle area + 6
2
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4 (a) (i) 28   cao 2 

M1 for

200

16350×

  oe 

or 350 ÷ 12.5   oe   or 1.75 × 16   oe 

  (ii) 420 2ft ft  for their 28 ×15 

M1 for their 28 ×

16

240

 or 

200

240350×

  oe 

or 1.75 × 240   oe 

 (b) 

π

×

=

4

10803

)r(
3

  oe M1 Correct rearrangement soi by 257 to 258 

 

 

3

4

10803

)r(

π

×

=   oe M1dep Dependent on previous M1 

  6.36 or 6.37   www A1 6.364 to 6.366 

 (c) (i) 24 B1  

  (ii) 232 (231.6 to 232.2) 3 M1 for π × 2.5
2

 × 1.8 (soi by 35.3 to 35.4)  

or area = 20 × 30 – their 24 × π × 2.5
2

  

(soi by 128.7 to 129) 

and M1dep for 1080 – (π × 2.5
2

 × 1.8 ) × their 24 

or their area × 1.8 

5 (a) 63.45 or 63.5   cso  4 M1 for 10, 30, 45, 55, 65, 75, 85, 95 

At least 6 correct mid-values soi  

and M1 for ∑ fx  

(6 × 10 + 12 × 30 + 20 × 45 +... 5 × 95 )  (12690)

where x is in the correct interval allow one 

further slip  

and M1 for their ∑ fx ÷ 200 dep on second M1 

 (b) (i) 75   117   195   200 B2 B1 for 2 or 3 correct 

  (ii) 8 correct points plotted  P3ft P2ft for 6 or 7 

P1ft for 4 or 5 

   Curve (or polygon) correct 

through 8 points 

C1ft ft their increasing curve only if at least B1 in 

(b)(i). Ignore t = 0 to 20 

 (c) (i) 65 to 67 B1ft Or ft their curve at cf = 100 

  (ii) 52 to 55 B1  

  (iii) 21 to 24 B1  

  (iv) 44 to 52 B1 Must be integer  

  (v) Integer value of 200 – reading at 

45 secs  

2ft B1ft for integer value of reading at 45 secs 
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep  dependent 

ft  follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC  Special Case 

www  without wrong working 
soi  seen or implied  
Qu Answers Mark Part marks 

1 Wednesday 

22 15 or 10 15pm 

2 B1 

B1 

2 (a) 

 

 (b) 

I   cao  

 

I N   cao 

1 

 

1 

 

 
3 x – 5   

5

x

   

x

5

   5x    

 
2 

 
M1 evaluating all 4 expressions for one value in 

the range. (1 and 2 are out of range)  

4 25 (correct working essential)  2 M1 for 18 + 4 + 3 with denominator 12 must be soi 

(oe is possible) 

5 64000 or 6.4 × 10
4

 2 SC1 for 63800 or 6.38 × 10
4

 or figs 64 or 6.4 × 10
k

 

in answer space. 

6 1, 2, 3, 4  3 M1 10x < 45   A1 x < 4.5  

7 4.46 or 4.456 to 4.459 cao 3 B1 for 28 seen 

M1ft for 

π2

28their

oe or better. 

8 13500   408  3 M1 135 × 10
2

 or 408000 ÷ 10
3

 oe A1 A1 

9 452  3 

M1 tan 78.3 = 

4.58

x

 

M1 “282” + 170 

SC2 282 in answer 

space 

10 (a) 

 

 (b) 

50  

 

15 

1 

 

2 

 

 

M1 finding area under graph   SC1 15000  

11 196 3 M1 y = k(x – 3)
2

 

A1 k = 4 M1 y = 

k

x
2

)3( −

 

A1 k = 

4

1
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Abbreviations 

cao correct answer only 

cso correct solution only 

dep dependent 

ft follow through after error 

isw ignore subsequent working 

oe or equivalent 

SC Special Case 

www without wrong working 

 

 
1 

 

96 

 
2 M1 for 

100

82600 ××

 oe  

If zero SC1 696 

 
2 

100

1

+

25

4

 or 0.1
2

 + 0.4
2

 oe 

100

1

+ 

100

16

= 0.17 or 0.01 + 0.16 = 0.17
 

 
M1  
M1 

 

     
Independent  

 
3 

 

 

180 

 
2 M1 for  

20

12300×

oe 

4 3y – y
4

 final answer
 

2 B1 for  3y  or  – y
4

 as part of two term expression 

5 88.2(0) 2 M1 for 84 × 1.05 oe 

6 Accurate perpendicular bisector of RT with 

arcs. 

2 B1 for 2 pairs of correct arcs 

B1 for correct line 

7 8.471 cao 2 
B1 for 8.47 or 8.4705 to 8.4706 or 

17

144

 or 
17

8

8  

8 249.5 [Y j<=] 250.5 cao 2 B1 for either, or both correct but reversed 

 

9 

 

 

 

 

 

 

2 

 

B1 for one correct 

10 Correct working seen 2 M1 for correct step M1 for correct step 

11 4w
64

 2 B1 for 4w
n

 or kw
64 

12 40 6
 

2 B1 for one correct 

13 23 – 2x 

   12 

3 M1 for two correct algebraic fractions with a 

common denominator of 12 

M1 for correctly collecting their terms   

M1 for dealing correctly with the 1  

14 3, –3 or ±3 3 M1 for y = k/√x oe  A1 for 18 
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15 30 000 3 

 

M2 for 7500 × 200
2

/100
2

oe 

or  M1 for 200
2

 seen 

 

16  
π

π Ax −

2

 oe 

 

3 

M1 for one correct move 

M1 for second correct move 

M1 for third correct move 

 
17 

 
10r

2 

cao
 

www 

 

  

 
3 B1 for 

r

r

52

4

)

360

(

××

=

π

θ

    

M1  for π

π

2

)5(

52

4

r

r

r

×

××

   

18 122.2  

 

4 

 

M2 for 13sin23/6   A1 57.8 

or M1 for sin23 = sin A 

                  6          13 

19 (a) 0.625 or  5/8 

 

(b) 62 

1 

 

3 

 

 

 

M1 for area under graph implied 

M1 for correct, complete, area statement 

20 (a) ⅓(c – d) oe 

 

(b) ⅓c + ⅔d oe 

2 

 

2ft 

M1 for DC = c – d oe or correct route 

Their (a) + d simplified 

M1 for any correct route from O to E stated 

21 h + 4 

h + 5 

4 B2 for (h – 5)(h + 4) seen   

B1 for (h – 5)(h + 5) 

If B2 not scored then SC1 for (h + a)(h + b) where 

a + b = –1 or ab = –20 

 
22 (a) 

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛ −

31

21

5

1

 

(b)(i) D cao  

 

    (ii) D
–1

E cao 

 
2  
1 

  

1 

B1 for 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

dc

ba

5

1

 or 
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛ −

31

21

k seen 

23 (a) 43 

 

(b) 12x + 2 

 

(c) 38 

2 

 

2 

 

1 

M1 for g(11) or  4[4(3) – 1] –1  

 

M1 for 3(4x – 1) + 5 

24 (a) 12.7 

 

(b) 28.2 

 

3 

 

3 

M2 for 10
2

 + 5
2

 + 6
2

 

or M1 for one of 10
2

 + 5
2

 or 6
2

 + 5
2

 or 10
2

 + 6
2

 

M2 for sin x = 6/(a) 

or  M1 for identifying angle PDB 

  70  
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Abbreviations 

cao  correct answer only 

cso  correct solution only 

dep dependent 

ft follow through after error 

isw  ignore subsequent working 

oe  or equivalent 

SC Special Case 

www  without wrong working 

art anything rounding to 

soi seen or implied 

  

 

Qu. Answers Mark Part Marks 

 
1 

 
(a) (i) 5  

 
2 M1 for 

)135(

153

++

×

 

 
 
 (ii)  108 

 

 
2 M1 for 60 × 

5

9

oe 

 (b)  Correct conversion of money  

     J × 0.718 or A ÷ 0.718 

 

 

   Correct equalising of weights 

 e.g. 

    J × 

]0[3

]0[2

                    or A × 

]0[2

]0[3

 

 or J ÷ 3 and A ÷ 2 or J ÷ 30 and  

 A ÷ 20   

 

97 to 98 or 201[.39…]   and Ann 

48.9[4.. ]  and 48.2[0] and Ann  

or 68[.16] to 68.[2]  and 67[.13] and 

Ann 

4.88… to 4.9  and 4.82 and Ann 

or 6.8[1..] to 6.82  and 6.7[1…] and 

Ann                                        

                                                         www 

M1 

 

 

 

M1 

 

 

 

 

 

 

 

 

 

A2 

 

Correct conversion of money 

soi by 146.83[1] rounded or truncated to 3sf or 

134.26[1…] rounded or truncated to 3 sf if 

done 1
st

  

Correct equalising of weights or money 

Accept other methods that give a pair of 

comparable values for method and accuracy 

marks 

This mark can be implied by values seen 

correct to 3 sf or better 

 

The underlined values imply M1 for the 

money conversion 

 

Or A1 for  97 to 98 or 201[.39…] 

or a correct pair of values with wrong/no 

conclusion 

 (c)   302 Final answer 3 M1 for  60 × 60 × 4 soi by 14400 or figs 6048 

or figs 3024 

and  M1 for  ÷ (1000 × 20) soi 

Answer 302.4 implies M2 

 
 
(d) 13.6[0] 

 
3 M2 for 

1.125

15.3[0]

oe 

or M1 for 15.3[0] associated with 112.5% 

 (e) 12 1  


